# Division (International) with a Helper Grid Name:

Solve each problem. Answers
) 749 : 7 = 2) 185 : 2 =
1.
2.
3.
4,
5.
6.
3 232 : 8 = 4 384 -7 =
5 691 : 6 = 6) 388 : 7 =

1-6 |83]|67]50[33][17] 0 |
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
) 749 : 7 =107 2) 185 : 2 =0092r1
- 1 107
- -0
04 18
902rl
-0 18 2
49
05 3 29
-14/9 -4
0 1 s 5416
5 115r1
6. 55r3
3 232: 8 =029 4 384 : 7 =054r6
-0 -0
23 38
-11l6 -13/5
72 34
1702 -2/8
0 6
59 691 : 6 =115r1 6) 388 : 7 =055r3
-6 -0
09 38
-6 -13'5
31 38
-13/0 - 35
1 3
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